THeFE REBEUREEREFAEER)

NO 1 =E Q%M 1300  omx kR 465 cm=$IERE 1,654 Z/10a /= 250 cm
SRER EH 1 2 3 4 5 6 7 8 9 10 11 12
2 48 46 43 44 48 48 46 45 41 45 40 44
H£FH 7/24 &E
FEHH 14 12 13 13 13 11 13 12 12 12 12 12
FER
BHTEHA 8/22
™ TEEH

e LB

NO 2 1 Q%M 1575 omx #kfE 430 cm=fIERE 1,477 ZA/10a 0= cm
SRER IEH 1 2 3 4 5 6 7 8 9 10 11
- 41 45 33 37 29 34 29 32 38 40 33
AW 704
FEFHH 10 11 10 11 10 9 5 10 10 10 8
FER
BATEHA 8/22
§ TEHY

e LB

NO 3 AfRA @R 1530  om x ¥k[E 46 cm=RIEFE 1,421 Z/10a 4= 320 cm
SREHR BB 1 2 3 4 5 6 7 8 9 10 11
FE 30 29 29 30 22 17 33 15 33 30 26
E£EH 7/24 AE
FEFHH 11 11 12 10 10 11 12 9 11 12 11
FER
BHTEHA 8/22
™ TEEH

& 5 B




THeFE REBEUREEREFAEER)

NO 4 BT/H Q% 1538  omx kM 423 cm=RHERE 1,537 A/10a M= cm
RER BB 1 2 3 4 5 6 7 8 9 10 11 12
2 51 51 41 46 47 46 45 48 47 43 45 44
H£FH 7/24 &E
FEHH 14 14 14 15 13 14 13 14 13 13 13 14
FER
BATEHA 8/22
™ TEEH

e LB

NO 5 INET Q%M 1525  omx #kfE 465 cm=RIEFEEE 1,410 ZA/10a = 195 cm
SREHR IBER 1 2 3 4 5 6 7 8 9 10 11
- 43 41 39 43 58 55 52 49 54 46 60
AW 704
FEFHH 14 15 16 16 16 15 14 15 15 11 14
FER
BATEHA 8/22
™ TEHH

e LB

NO 6 ENEFRE @R 1500  om x ¥R 430 cm=HRIEZTE 1,550 #/10a 8= 270 cm

SREHR HH 1 2 3 4 5 6 7 8 9 10 11
-2 53 55 46 47 51 60 50 52 49 49 58

E£EH 7/24 IA &
FEFHH 17 15 14 15 15 15 17 15 15 15 13

FER

BATEHA 8/22
™ FTEEH

& 5 B




